Name: Class: Date:

English in Action Book 3 Unit 10

Multiple Choice
Identify the choice that best completes the statement or answers the question.

Choose the correct word or words to complete the sentence.

1. Thebrideand groom ____reserve a place for the ceremony.
a. don'thasto
b. hasto
c. haveto
d. doesn't have to
2. Thewedding couple ____send the invitations a year before the wedding.
a. hasto
b. doesn't has to
c. haveto
d. don't have to
3. My father ____buy atuxedo when he got married. He rented one.
a. hadto
b. didn't have to
c. hasto
d. doesn't have to
4. Thecouple ____selectrings for each other.
a. haveto
b. hasto

c. don't have to
d. doesn't have to

5. Thecouple ____apply for a marriage license three months ago.
a. haveto
b. don'thaveto
c. hadto
d. didn'thasto
6. Thebride ____ wear a white dress if she doesn't want to.
a. hasto
b. doesn't have to
c. hadto
d. didn't have to
1. Thegroom ____choose his brother to be the best man.

a. didn'thadto
b. doesn't have to

c. haveto
d. don't have to

8. Theguests____ dance if they don't want to.
a. hasto

b. doesn't have to
¢. haveto
d. don't have to
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9. Many years ago weddings were less formal. The groom ____ wear a tuxedo.
a. hadto
b. hasto
c. didn't have to
d. doesn't have to
____10. Thebride and groom ____rent a limousine. They can use a regular car.
a. haveto
b. don't have to
c. hasto
d. doesn't have to
____11. Ahundred years ago, the bride ____ take her husband's last name.
a. hasto
b. hadto
c. doesn't have to
d. didn'thadto
___ 12, Q:DoIhave to send a gift?
A
a. Yes, youdo.
b. Yes, does.
¢. Yes,do.
d. Yes, you does.
13, Q:Does he have to wear a tuxedo?
A
a. No,don't.
b. No, doesn't.
¢. No, he doesn't.
d. No, he don't.
14 Q_
A: Yes, they have to get a marriage license.
a. Do they have to get a marriage license?
b. Does they have to get a marriage license?
¢. They do have to get a marriage license?
d. Do they has to get a marriage license?
Completion

Complete each statement.

15.
16.
17.
18.
19.

Use should or shouldn't to complete the sentence.

Amy has the flu. She stay in bed.

The wedding is formal. You wear a suit and tie.

We're having a heat wave. You wear a heavy coat.

Linda's parents don't have much money. Linda and Hal pay for the wedding.
The weather report says it's going to rain. We go to the beach.
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20.
21.
22,

Matching

23.
24.
25.
26.
27.
28.

Complete the sentence with the correct word or words from the reading.

Weddings can be expensive. Laura and Mike are in their early 20s. They both have good jobs and they wanted to have
a fancy wedding. Their wedding rings cost $450 each. Laura paid $600 for her wedding gown and another $250 for her
shoes. Mike didn't want to rent a tuxedo, so he bought one---for $500! They rented two limousines for the wedding party.
That cost $450 for the day. Laura and Mike invited 150 guests and the reception after the wedding cost them over
$10,000. "We're only doing this once," they said. "It's worth the money."

Laura paid $600 for her

Laura and Mike invited 150 to their wedding.

Mike bought his for $500.

Match the sentence parts to make correct sentences.
so we know who is coming to the wedding
because he doesn't own one

because their friend is getting married

because they want to have enough money

so they will have good pictures

so they can choose a wedding cake

moe a6 o

The groom's friends will plan a bachelor party ____ .
Many couples hire a photographer .

We should call the guests who have not responded _____
The groom has to rent a tuxedo .

The bride and groom have to visit a bakery ___ .

The couple should make a budget for the wedding .
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